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I Impact of nam on other mmay:
a  a7ifitis deficient in any way, any 0>w7p slaughtered then are %108 — ( 21 forgot the prooftext)
i ~275 77 heard na%n in SRynw’ 'v's name, v. 1 — not slaughtered “atop”, rather, “with” narn (when in proper shape)
b 277 77 both (those slaughtered then and those that are merely v1pn then) are 508
i Point of disagreement: whether n»n 5pa are subject to »n7 (can animal be “rejected” while alive)
ii ~ Challenge: Xn»1 reads — any o'w1p from before narn was built are %108
1  Block: these are ®1p'yn pnT (which isn’t »nT)
2 Rather: read “if they were w1pn when nam was destroyed”
(a) Block: 50+ years passed from then until it was rebuilt (c. 536 BCE) — any animals from then were dead
3 Rather: read “if they were wTpn when nam was disfigured (incidentally)” — proof to jnv "
4 Defense: we've already rejected original read of ®n»a —read “yonw” instead of "wmn”
(a) Challenge: if ((»219) namn is uprooted, the n1op may be burnt in that location
(i) Answer: nTVv "1 agrees that for onT, nam itself is needed::17 may agree that nxn nam is needed
II  Background: v. 2- nn5w sanctified entire n71y
a /77 7 read literally — entire 171y has nam nwytp = PR can be burnt on floor
b »o» 7 using nwn’s nam (12 npR of naIyn) — v. 3 IK mvy; yet on his (202 mnr) — 22K — enough room
i Rather: 935010 jvp is a euphemism for rejection (of old narn in favor of new one)
(a) A7 7 maintains that nwn’s narm was bigger — the 5 MmnR (v. 5) are the radii
(i) Source: vv.5-6 (»127:9117); v. 6 — 12 mnR are radii (per 1ya7)
1. »pp /7. uses 129:12 to teach that height is 2x length
2. Challenge (711777 7): if s0, the 103 is standing higher than the walls of the N9y (my~x?)
a. Answer:v.7 sets us nam at 10 mnx hight; v. 8 allows for higher walls (n'y5p)
b. And: (v.5)5 mnR are from edge of narn up; 3 mnk are from edge of 2270 and up
3. Challenge: according to N '3, 102 is seen (3 mnk up+3 mnR of his height; wyYp 5)
a. Answer: he can be seen, but the 1772w nmay isn’t seen
b.  Note: "w1p” (v. 2) is reasonable for nTn’ "1 — how does o1 "1 explain it?
i.  Answer: nnbw sanctified area to place the narn
ii ~ Note: “yop” (ibid) is reasonable for 'ov "1 — how does nTn’ "1 explain it?
1  Answer: means that the nam that nnYw built in its stead was (also) too small
iii  Point of disagreement: do we infer yynn pin (nam from YRprm) or *53n *H3 (2Nt NWIN N1aTN)
1 Note (¥37): nmi "1 agrees that the 0'nT must be placed on nam
2 Per: his ruling about the “end-of-day” cleanup of noa T
(a) Proof: if the entire N7ty naxy were valid for o7 np»t, even if spilled —qw2!
(b) Rejection: perhaps it needs to be deliberately thrown/spilled (%23 n3)
(i) However: this is still a proof — they could have “re-spilled” on the floor = onTa nmn
(ii) rejection: perhaps that is only 1na1nn 1n mxn, but spilling it on the floor would be 1>
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